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 Results of balansing of two unfree networks trilateration by two variants are
given. In one the conditional equations of rigidity are composed as the equations  direc-
tional angles and coordinates, and in the other variant the conditional equations of
coordinates are replaced by the conditional equations of the sums of angles. The expe-
riment allows to assert, that both variants of an balansing are equivalent. But at the
second variantthe process of drawing up of the conditional equations of more simple.
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qnr 2−= r,                                                                    (1)
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          1                                 9                                                                              7
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                         10
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1 3118,47 1250,00 6 2243,78 7722,00
2 1623,87 1623,87 5 4155,00 6799,40
4 1895,10 4729,97
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 (2-1-10)  –  (10-1-4)  +   w3 = 0,

 (1-2-10)   +  (10-2-4)  + w4  = 0,                                              (2)

 (1-4-9) +  (9-4- 8) + (8-4-7)  + w5 = 0,
 (1-4-9) +  (9-4- 8) + (8-4-7)  + (7-4-6) + w6 = 0.

+�!�	��!�	�������� �
�"�����#��

w3  =  α1−2 –  ∠(2-1-10 ) –  ∠(10-1-4 ) – α1−4  ,

w4  =   α2−1 + ∠(1-2-10 )  +  ∠(10-2-4) – α 2-4 ,                                     (3)

w5 =   α4−1 +  ∠(1-4-9) +  ∠(9-4- 8) + ∠(8-4-7) –  α 7-6,
w6 =   α4−1   +  ∠(1-4-9) +  ∠(9-4- 8) + ∠(8-4-7)  + ∠(7-4-6) – α 6-7.
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 (2-3-10) + (10-3-4) – (2-3-4) )  +   w3 = 0,
                               (1-9-10) + (10-9-4) – (1-9-4)  + w4  = 0,                                         (4)

 (4-8-5) + (5-8-7) – (4-8-7)  + = 0,
 (4-5-8) + (8-5-7) + (7-5-6) – (4-5-6) + w6 = 0.

+������ �
�"��"'�����#���	� "��$$�����!�	��!�	�����	�
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w3 = ∠(2-3-10) + ∠(10-3-4) – ∠(2-3-4) ,

w4  = ∠(1-9-10) + ∠(10-9-4) – ∠(1-9-4) ,                                  (5)

w5 =  ∠(4-8-5) + ∠(5-8-7) –∠ (4-8-7),

w6 = ∠(4-5-8) +∠ (8-5-7) + ∠(7-5-6) –∠ (4-5-6).
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1-10 1479,46 1,4 0,8 8-9 1696,80 -1,2 -2,1

2-10 1669,69 0,2 0,1 4-8 2702,11 1,9 2,2

3-10 1664,29 3,3 3,9 4-5 1583,58 0,9 -0,1

2-3 1724,59 2,2 1,4 5-8 3623,30 0,9 -1,8

4-10 2212,25 0,9 0,7 7-8 2609,27 -0,7 -1,5

3-2 1620,67 -1,9 -0,5 5-7 2639,33 0,9 2,2

9-10 1661,26 1,1 0,4 5-6 1593,39 0,0 -1,5

4-9 3183,43 1,9 0,7 1-9 1708,00 -0,5 -2,0
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3 1059,992 3341,023 1059,992 3341,023

4 1567,418 6279,280 1567,418 6279,280

5 1567,424 6279,282 1567,424 6279,282

8 4548,641 4220,003 4548,641 4220,003

9 4219,997 2555,335 4219,997 2555,335

10 2559,994 2620,005 2559,994 2620,005
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1 60023,54 20027,10 3 76418,06 19131,14

2 65988,98 12999,27 4 70012,17 34086,10
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3-7 8880,17 -0,4 1,7 3-6 9329,86 0,9 2,4

7-4 7946,64 0 -1,4 7-6 8564,01 0,6 -1,1

4-5 10342,09 4,0 0,1 4-6 11241,23 1,2 -1,5

5-1 8971,61 4,1 0,4 5-6 9084,45 -3,2 -0,5

1-6 8473,81 4,8 2,3 5-7 13994,44 -0,6 3,3

2-6 10226,12 -2,7 -4,3

���������

���� $"#%$��$-"#0+�#"$4�*+"/%;�� �+&�<�'���!;
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5 61040,817 28940,853 6140,816 28940,850

6 67944,937 23036,586 67944,935 23036,585

7 74996,258 27896,748 74996,256 27896,749
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 The coordinate – vector method is considered for the representation of a slope as
well as for the determination of bedding elements of a stratum.
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